Upplands BF
IAF fran DM-lagfinal Rond 1:2

IMP dver féltet, 10 bord, 20 par. Antal brickor: 10.

Plac Par Poéng Namn MID
1 103 2.20 Jonas Petersson - Krister Ahlesved 2059 13995
2 4 1.83 Robert Larsson - Matti Hellstrom 15346 40401
3 201 1.31 K-G Wanngard - Kjell Jansson 6634 12268
4 305 1.00 Frank Westman - Sten-Sture Gillestrom 2822 6066
5 304 0.99 Anders Blomgyvist - Ivar Holmquist 2823 2932
6 302 0.98 Thomas lvarsson - Nils-Olof Fridqvist 6659 2875
7 5 0.92 Johan Safsten - Joakim Nordlindh 35452 35307
8 203 0.66 Niklas Warne - Jan Selberg 15344 11074
9 2 0.57 Kjell Hedman - Christer Eriksson 2832 9292
10 301 0.48 Lennart Kohl - Lennart Andersson 9989 15015
11 101 -0.48 Peter Svensson - Mattias Jonsson 802 22897
12 202 -0.57 Arne Lindgvist - Rolf Staflund 2598 9211
13 3 -0.66 Mats Johansson - Rolf Westman 15014 2821
14 205 -0.92 Lars Lindholm - Sveinn Bjarman 7983 2817
15 102 -0.98 Lars Ohlsson - Rolf Nyman 2795 2588
16 104 -0.99 Goran Rangevall - Marcus Hjelte 2876 84282
17 105 -1.00 Anders Sjodén - Dan Granberg 2996 6
18 1 -1.31 Torsten Runebert - Ola Sddergran 9996 9994
19 204 -1.83 Mikael Fahlander - Peter Swensson 13534 15345
20 303 -2.20 Bo Petersson - Torbjorn Nyberg 11140 12682
11 410 Basta kontrakt 12 & K653 Basta kontrakt 13 462 Basta kontrakt
Syd v E1098 3v SD-1-100 Vast v K52 3v V =-140 Nord vE ANT O =-630
Ingen + K8653 NS + 108 Alla ¢ Kn987543
D98 & ¢ v & NT #Kn843 & ¢ v & NT #965 & ¢ v & NT
4 EKKn54 497 N47 8505 4Knl082 474 N86 4765 &« EKn95 4 KD108 N46 223
v Kn2 v 543 S 47855 vKn743 vED86 S86 475 vKnl10752 v D863 S46 223
¢+ E10 ¢ DKn72 096477 ¢+ KD2 ¢ Kn954 O57 966 ¢+ KD2 +6 O 8 6 109 10
#7532 #EK106 V96577 #96 #E102 V57966 &Kn #EKD10 vV 8 6 109 10
« D8632 « ED9 4743
vKD76 v 109 v K94
+94 ¢ E763 ¢ E10
»Kn4 #KD75 #87432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
104 304 2v S= #+A 110 50.0 -50.0 (103 303 34 N= vA 140 28.0 -280| 4 204 4v V-3 +3 300 99.0 -99.0
4204 INO= 49 -90 0.0 0.0(101 301 INS+1 &2 120 21.0 -21.0 1201 49 0-1 ¢A 100 68.0 -68.0
101 301 INO= v4 -90 0.0 0.0 5205 3#aN= ¢6 110 18.0 -18.0(104 304 4v V-1 +8 100 68.0 -68.0
3203 3vS-2 vJ -100 -4.0 4.0 1201 INS= +¢K 90 11.0 -11.0|105 305 4v O-1 ¢A 100 68.0 -68.0
102 302 2v S-2 A -100 -4.0 40| 4 204 INS= &) 90 11.0 -11.0 2202 4y V= ¢3 -620 -49.0 49.0
1201 3&«V= 45 -110 -8.0 8.01102 302 INS= +¢K 90 11.0 -11.0 3203 49y V= 46 -620 -49.0 49.0
2202 3aV= 43 -110 -8.0 8.0|105 305 INS= &J 90 11.0 -11.0 5205 49y V= 43 -620 -49.0 49.0
5205 24 V= 43 -110 -8.0 8.0 2 202 24 N-1 &4 -100 -37.0 37.0|/101 301 4v V= 5 -620 -49.0 49.0
103 303 3# V= ¢2 -110 -8.0 8.0 3 203 24 N-1 &7 -100 -37.0 37.0|102 302 4y V= ¢9 -620 -49.0 49.0
105 305 INO+1 ¥K -120 -10.0 10.0 (104 304 2NS-1 +¢K -100 -37.0 37.0|/103 303 5v O= &2 -650 -58.0 58.0
14 « E64 Bésta kontrakt 15 & ED943 Bésta kontrakt 16 » KKn965 Bésta kontrakt
Ost v D985 2NT S =120 Syd v K105 3¢ VD-1100 Vést v EK764 34 N =140
Ingen ¢+ Kn104 NS +73 ov ¢ E7
&E75 & ¢ v & NT &E93 & ¢ v & NT &5 & ¢ v & NT
107 4832 N8 6 588 4 K102 & Kn N6 56 88 4 E10743 o- N48897
vEK763 vKn42 S 86588 v32 v DKn976 S6 56 88 v52 v DKn98 S48897
+ K8 ¢+ E7632 057745 ¢ Kn1054 ¢ KD92 0787565 52 ¢ KKn94 0855145
#K943 106 V57745 #D1042 #KKn7 V78755 #D832 »E9764 V85546
& KDKn95 4 8765 4 D82
v10 v E84 v 103
+ D95 + E86 +D10863
#DKn82 #865 #KKn10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 204 4¢DO-49vT 800 101.0 -101.0 5205 24 N+1 ¢K 140 23.0 -23.0 5 205 44DN= vQ 590 100.0 -100.0
101 301 44 S= vK 420 41.0 -41.0(103 303 34 N= vJ 140 23.0 -23.0|103 303 44 N= vJ 420 78.0 -78.0
2 202 3BNN= 4 400 36.0 -36.0 2 202 24 N= vQ 110 140 -140| 4 204 24 N+1 vQ 140 27.0 -27.0
3203 3NN= v2 400 36.0 -36.0| 4 204 24 N= vQ 110 14.0 -14.0 (101 301 44 S-1 ¢5 -50 -13.0 13.0
103 303 3NS= vK 400 36.0 -36.0|101 301 24 N= vQ 110 140 -14.0|102 302 44 N-1 ¢Q -50 -13.0 13.0
5 205 24 S+3 vK 200 -8.0 8.0|102 302 24 N= ¢Q 110 14.0 -14.0 2 202 44 N-2 &A -100 -28.0 28.0
1201 34 S-1 vK -50 -57.0 57.0(104 304 24 N= «J 110 14.0 -14.0 3 203 44DN-1vQ -100 -28.0 28.0
102 302 34 S-1 &T -50 -57.0 57.0 1201 3¢ N-1 ¢Q -100 -37.0 37.0|104 304 44DN-1vQ -100 -28.0 28.0
105 305 34 S-1 vA -50 -57.0 57.0|105 305 24 N-1 vQ -100 -37.0 37.0(105 305 44DN-1 vQ -100 -28.0 28.0
104 304 34 S-2 vA -100 -71.0 71.0 3 203 3¢ O= &5 -110 -42.0 42.0 1 201 44DN-2 vQ -300 -67.0 67.0
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17 4 KD5 Basta kontrakt 18 4 KD852 Basta kontrakt 19 a- Basta kontrakt
Nord v E843 34 O =-140 Ost v 96 3NT S =600 Syd v EK10876 4e S =420
Ingen +1072 NS + 865 ov ¢ E92
«D107 & ¢ v & NT #EK10 & ¢ v & NT #K853 & ¢ v & NT
4109876 442 N4 4645 «EKNn1043 49 N7 7798 a7 # EKn43 N4 65 104
vD10 v K65 S446 45 vE107 v D82 S77799 vD3 v Kn9542 S 4 65 104
+83 ¢ EKKn54 09 97938 ¢E7 ¢ D10432 06 66 4 4 ¢+ KD1075 +64 0767338
#9654 #EKKn V997938 #Kn98 #7652 V56644 #EKn942 D7 V768338
4 EKn3 476 « KD1098652
v Kn972 v KKn543 v-
+ D96 ¢ KKn9 ¢ Kn83
#832 «D43 #106
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 3NO-1 v2 50 440 -440| 2 202 14DV-2 v9 300 63.0 -63.0(102 302 5#D O -4 4K 1100 85.0 -85.0
5205 2¢ O= 8 -90 9.0 -9.0(103 303 INV-3 «3 150 29.0 -29.0| 4 204 54DV-3 vK 800 55.0 -55.0
102 302 INO= 2 -90 9.0 -9.0( 3203 2vS+1 #8 140 28.0 -28.0| 2 202 44 S+1 K 450 40 -4.0
2202 2vN-2 A  -100 50 -5.0(101 301 2NN= 49 120 23.0 -23.0|104 304 44 S= ¢K 420 -3.0 3.0
103 303 24 O= 3 -110 20 -2.0(105 305 1a V-2 #A 100 16.0 -16.0 (105 305 44 S= ¢K 420 -3.0 3.0
104 304 24 V= v4 -110 20 20| 4204 INV= a2 -90 -31.0 31.0| 5205 4NV-3 vA 300 -220 220
105 305 24 O= +¢2 -110 20 -20| 1201 2vS-1 &K -100 -32.0 320(| 1 201 34 S+1 ¢K 170 -43.0 43.0
1201 INO+1 v3 -120 0.0 00| 5205 2v N-1 &9 -100 -32.0 32.0|101 301 44 S-1 +¢K -50 -73.0 73.0
3 203 34 O= ¥v6 -140  -8.0 8.0(102 302 2v S-1 4A -100 -320 32.0| 3 203 34 S-2 +K -100>a 0.0 0.0
4 204 3NO= &2 -400 -65.0 65.0|104 304 2v S-1 ¢A -100 -32.0 32.0|103 303 34 S-2 +K -100>a 0.0 0.0
20 ~E6 Basta kontrakt
Vast v73 4v V =-620
Alla ¢ DKn754
#9863 & ¢ v o NT
4 Kn983 & D42 N48 345
vKD95 vE864 S$48345
+ 86 ¢E3 09 5 109 8
#EKn7  #K542 vV 9 5 109 8
4 K1075
v Kn102
¢ K1092
«D10
Par Kontr Ut Res Poang
1201 1vV+3 ¢Q -170 50.0 -50.0
2202 3y V+1 «Q -170 50.0 -50.0
3203 3y V+1 3 -170  50.0 -50.0
5205 3vyV+l +Q -170 50.0 -50.0
103 303 3vy O+1 v3 -170  50.0 -50.0
4204 49y O= v2 -620 -50.0 50.0
101 301 4y O= v2 -620 -50.0 50.0
102 302 4v V= &A -620 -50.0 50.0
104 304 4v O= vJ -620 -50.0 50.0
105 305 4y O= v2 -620 -50.0 50.0
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